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 :  (1)      . 
   (2)  – I (50 )   – II (50 ) 

   (3)  – I      . 1  50 

   (4)  – II      . 51  100 

Instructions : (1) All questions carry equal marks.  
   (2) Section – I (50 marks) and Section – II (50 marks) 
   (3) Answer all questions from Section – I ; Q. 1 to 50. 
   (4) Answer all questions from Section – II ; Q. 51 to 100. 

 

 – I / Section – I  
(Inorganic & Physical) 

1.       Sr+2  K+1   ______  ______   . 
 (A)  ,  (B)   ,  

 (C) ,   (D) ,    

 The salt of Sr+2 and K+1 imparts ________ and ________ colour to Bunsen burner 
flame in flame test. 

 (A) Crimson red, Violet (B) Brick red, Violet 
 (C) Violet, Crimson red  (D) Violet, Brick red 
 

2.    ________    . 
 (A)  (B)  (C)  (D)  

 Blue borax bead is obtained with ________.  
 (A) Zinc (B) Cobalt (C) Chromium (D) Nickel 
 

3.          ? 
 (A)   <   (B)   >   

 (C)   =   (D)      
 To obtain precipitates which of the following relation apply ? 

 (A) I.P. < Ksp (B) I.P. > Ksp (C) I.P. = Ksp (D) I.P.  Ksp 
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4.  , ,   PO4
3–   ,    HCl   

          ________ 
 (A) H3PO4      . (B)  HCl   . 
 (C) HPO4      . (D) H3PO3      . 
 If PO4

3– is present in the salt of Ca, Ba and Sr, then before preparing solution in HCl for 

flame test it should be converted in the carbonate salt because ________ 
 (A) Formation of H3PO4 prevents the flame test. 

 (B) They are insoluble in HCl. 
 (C) Formation of HPO4 prevents the flame test. 
 (D) Formation of H3PO3 prevents the flame test. 
 

5.             ? 
 The salt that imparts green colour to Bunsen burner flame in flame test is  

 (A) Ca2+ (B) K+ (C) Na+ (D) Ba2+ 
 

6.           ? 
 (A)   (II)  (B)    

 (C)    (D)   

 Which of the following reagent is used for the test of ammonium ion ? 
 (A) Potassium hexacyanoferrate (II) solution (B) Potassium thiocyanate solution 

 (C) Potassium iodide solution (D) Nessler reagent 
 

7.     SO3
2–  Cl1–      ? 

 Which reagent is used to remove SO3
2– and Cl1– ? 

 (A) BaSO4 (B) Pb(NO3)2 (C) NaOH (D) KOH 
 

8.  , AgCl    NH4OH  ______    . 
 (A) /   (B) / 

 (C)  (D)  
 In qualitative analysis, precipitate of AgCl dissolves on addition of dilute NH4OH due 

to formation of _________ 
 (A) Amalgam (B) Colloids  (C) Complex (D) Ions 
 

9. ________    HCl  H2S      . 
 The ion that cannot precipitated by both HCl and H2S is ________.  
 (A) Pb2+ (B) Cu+ (C) Ag+ (D) Sn2+ 
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10.      ,       ? 
 (A) Cl–1  CO3

–1 (B) CO3
–2  Br–1 (C) S–2  Cl–1 (D) CO3

–2  S–2 

 If inorganic mixture is partially soluble in water, then salts of which negative radicals 
are present ? 

 (A) Cl–1 and CO3
–1 (B) CO3

–2 and Br–1 (C) S–2 and Cl–1 (D) CO3
–2 and S–2 

 

11.  NH4
+1   ,  NaOH     ________  . 

 (A)   (B)  (C)  (D)  

 If NH4
+1 is present in inorganic mixture, on heating the mixture with NaOH _________ 

gas evolved. 
 (A) Carbon dioxide (B) Chlorine (C) Ammonia (D) Hydrogen 
 

12. Fe+3    ________ .  
 (A) KSCN         

 (B) KSCN         
 (C) NaF         

 (D) HCl       
 _________ is the confirmation test for Fe+3.  
 (A) Adding KSCN solution and observing a blue colour 
 (B) Adding KSCN solution and observing a bloody red colour 
 (C) Adding NaF solution and observing a red colour 
 (D) Adding HCl and observing a white precipitate 
 

13.   + DMG + NH4OH   ,      ? 
 Original solution + DMG + NH4OH to give red ppt, which cation is present ? 
 (A) Zn+2 (B) CO+2 (C) Fe+3 (D) Ni+2 
 

14. -    ,      
    ? 

 In Nitrate-Nitrite in presence of each other test, which radical is first removed as a 
brown fumes ? 

 (A) NO2
–1 (B) NO3

–1 (C) N2 (D) N2O2 
 

15.  III-B  _______     . 
 (A)  (B)  (C)  (D)  

 Group III-B cations are precipitated as _______.  
 (A) Sulphides (B) Nitrates (C) Carbonates (D) Chlorides 
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16.    ________   . 
 Chromium hydroxide is precipitated in Group _________. 
 (A) II (B) (B) III (A) (C) IV (D) III (B) 
 

17. V(A)   _______ . 
 V(A) group reagent are _______. 
 (A) NH4Cl + NH4OH (B) NH4Cl + NH4OH + H2S(g) 

 (C) NH4Cl + NH4OH + (NH4)2CO3 (D) NH4Cl + NH4OH + Na2HPO4 
 

18. Ca+2, Ba+2, Sr+2 ________   . 
 Ca+2, Ba+2, Sr+2 present in ________ group.  
 (A) II (B) (B) IV (C) III (A) (D) III (B) 
 

19.      ? 
 Which of the following is coloured compound ? 

 (A) NiSO4 (B) NaCl (C) MgCl2 (D) Al2(SO4)3 
 

20.           ? 
 Which positive radical salt does not give sublimation on heating in dry test tube ? 
 (A) NH4

+1 (B) Mg+2 (C) As+3 (D) Sb+3 
 

21.         ?  
 Ring test is performed for which negative radical ?  
 (A) Cl–1 (B) NO3

–1 (C) Br–1 (D) PO4
–3 

 

22. BO3
–3       ? 

 In BO3
–3 test which reagent is used ? 

 (A) C2H5OH (B) HNO3 (C) DMG (D) CH3COOH 
 

23.      ________     . 
 (A)  (B)  (C)   (D)   
 Starch lodide paper is used for the test of _________. 
 (A) Iodine (B) Chlorine (C) Oxidising agent (D) Reducing agent 
 

24.     ________ . 
 (A)   (B)   (C)   (D)   

 The compound insoluble in acetic acid is _________. 
 (A) Calcium oxide (B) Calcium carbonate 
 (C) Calcium oxalate (D) Calcium hydroxide 
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25.   ,       ? 
 (A)   (B)   (C)  (D)   

 In Borax bead test, which of the following compound is formed ? 
 (A) Meta borate (B) Tetra borate (C) Borate (D) Ortho borate 
 

26.       pH      ? 
 (A)   pH  . (B)   pH  . 
 (C)   pH   . (D)   pH   . 
 What changes occur in pH if base is added to acidic solution ? 
 (A) pH of acidic solution decreases. (B) pH of acidic solution increases. 
 (C) pH of acidic solution remains constant. (D) pH of acidic solution becomes zero. 
 

27. KBrO3  KI    ________   . 

 (A)  (B)  (C)  (D)  

 The reaction between KBrO3 and KI is a ________ order reaction. 
 (A) zero (B) first (C) second (D) third 
 

28. pOH     ? 
 What is equation for pOH ? 
 (A) pOH = log[H+] (B) pOH = log[OH–] 

 (C) pOH = –log[H+] (D) pOH = –log[OH] 
 

29.        ? 
 (A)      . (B)      . 
 (C)       . (D)    
 What is the effect of temperature on solubility of the substance ? 
 (A) Solubility of substance increases with increase in temperature. 

 (B) Solubility of substance decreases with increase in temperature.  

 (C) There is no effect of temperature on solubility of substance. 

 (D) None of these 
 

30. H2O2  KI  ,       ,  ‘a’  ‘b’  
   ? 

 (A) 125  62.5 (B) 62.5  125 (C) 50  25 (D) 25  12.5 

 In the reaction between H2O2 and KI, when concentration of both the reactants are 

different, the values of ‘a’ & ‘b’ will be  
 (A) 125 and 62.5 (B) 62.5 and 125 (C) 50 and 25 (D) 25 and 12.5 
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31.     ? 
 (A) -   0.01 M NaCl    .  

 (B) -     (-7, 4  9.2 )  . 
 (C)  -      . 
 (D) -   HCl   . 
 Which is correct of the following ? 
 (A) 0.01 M NaCl solution is used to calibrate conductometer. 

 (B) Buffer solution (having pH – 7, 4 and 9.2) is used to calibrate pH – meter. 

 (C) Acidic water is used to calibrate conductometer. 
 (D) HCl solution is used to calibrate colorimeter. 
 

32.    OH–     ? 
 (A) 10–7   (B) 10–7   
 (C) 10–7    (D) 10–1   
 What is the correct concentration of OH– for basic solution ? 
 (A) less than 10–7  (B) equal to 10–7 

 (C) more than 10–7  (D) less than 10–1  
 

33.        ? 
 What is the value of dissociation constant of acetic acid ? 
 (A) 1.6  10–4 (B) 1.6  10–3 (C) 1.6  10–5 (D) 1.5  10–4 
 

34.             100 ml    
        ? 

 How much volume of reaction mixture is taken for titration if the total volume of the 
reaction mixture is 100 ml due to the mixing of all the reactants of set in chemical 
kinetics experiment ? 

 (A) 10 ml (B) 20 ml (C) 5 ml (D) 25 ml 

35. “HBrO3  HI (a = b)   ”   
)–  (a

1

x
 time (t)   

       ? 
 (A)    . (B)    . 
 (C)    . (D)    . 

 What indicates the straight line plot of 
)–  (a

1

x
 time (t) in the experiment “To study 

the reaction between HBrO3 and HI (a = b)” ? 
 (A) Reaction is of second order. (B) Reaction is of third order. 
 (C) Reaction is of zero order. (D) Reaction is of first order. 
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36. “K2S2O8  KI (a  b)   ”     K     ? 
 What is the equation of rate constant K for the experiment “To study the reaction 

between K2S2O8 and KI (a  b) ? 

 (A) K = 
x

x

–  a
 

 t· a

1
 (B) K = 

)a(b

)b(a
 log 

t(a

2.303

x–  

x–  

b) – 
  

 (C) K = 
x

x

–  a

–  b
 

 t· a

1
 (D) K = 

x

x

–  a

–  b
 log 

 t· a

1
 

 

37.   ________ . 
 The unit of conductance is _________. 
 (A) Mv (B) Amp (C) mho (D) Kv 
 

38. H2O2  HI   ________  . 
 (A) - (B)  (C)  (D)   
 Type of reaction between H2O2 and HI is _________. 
 (A) Acid – base (B) Iodimetry (C) Iodometry (D) Redox reaction 
 

39. Cu+2        ? 
 What is wavelength of filter used in the experiment of Cu+2 colorimetry ? 
 (A) 470 nm (B) 420 nm (C) 570 nm (D) 620 nm 
 

40. Ag+  Pb+     ________      . 
 (A)  KBrO3 (B)  KNO3 

 (C)  KCl (D)  KI 

 The salt bridge used in potentiometric titrations of Ag+ and Pb+ is made up of 
_________. 

 (A) Saturated KBrO3 (B) Saturated KNO3 

 (C) Saturated KCl (D) Saturated KI 
 

41.  (absorbance)       ? 
 (i)   (ii)   (iii)  

 (A) (i)  (ii)  (B) (i)  (iii)  (C) (i)  (D) (ii) 

 On which absorbance depends ? 
 (i) Pressure (ii) Concentration of solution (iii) Temperature 
 (A) Both (i) and (ii)  (B) Both (i) and (iii)  (C) (i)  (D) (ii) 
 

42.        ? 
 (A) %  (B)  (C)   (D)   
 By which other name optical density is known ? 
 (A) % transmittance (B) Absorbance 
 (C) Specific conductance (D) Absolute conductance 
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43.   ________   . 
 (A)    (B)   

 (C) -  (D)   

 The working of colorimeter is based on _________. 
 (A) Law of gravitational force (B) Planck’s law 
 (C) Lambert-Beer’s law (D) Graham’s law 
 

44. FeSO4 (NH4)2 SO4 · 6 H2O  KMnO4       ? 
 The reduction of _________ is observed in the reaction between FeSO4 (NH4)2 SO4 · 6 H2O 

and KMnO4. 
 (A) 2N HCl (B) FeSO4 (NH4)2 SO4 · 6H2O 

 (C) KMnO4 (D) H2SO4 
 

45.           ? 
 (A) %    . (B) %     . 
 (C) %    . (D)    

 What is the effect of increase in concentration of solution during the colorimetry 
experiment ? 

 (A) The value of % transmittance decreases 
 (B) The value of % transmittance remains constant 
 (C) The value of % transmittance increases 
 (D) All of these  
 

46.   (calibrate)      ? 
 (A)   (B)   (C)   (D)   

 Which solution is used to calibrate colorimeter ? 
 (A) Working solution (B) Stock solution 
 (C) Buffer solution (D) Blank solution 
 

47.      ? 
 What is the unit of cell constant ? 
 (A) cm (B) cm–1 (C) metre (D) millimeter 
 

48.       
 (A)  (B)   

 (C)   (D)   
 The inverse value of specific resistance is called  
 (A) Resistivity (B) Cell constant  
 (C) Equivalent conductance  (D) Specific conductance  
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49.       ? 
 (A)   =      (B)   =      

 (C)   =      (D)   =     

 Which is correct for specific conductance ? 
 (A) Specific conductance = equivalent conductance  molar conductance 
 (B) Specific conductance = specific resistance  cell constant 
 (C) Specific conductance = observed conductance  cell constant  
 (D) Specific conductance = observed conductance  resistance 
 

50.     ? 
 (A)      .  
 (B)       . 
 (C) %      . 
 (D)   %    . 
 Which is not correct from the following ? 
 (A) Optical density is directly proportional to concentration of solution. 
 (B) Optical density is inversely proportional to concentration of solution. 
 (C) % transmittance is inversely proportional to concentration of solution. 
 (D) Optical density is inversely proportional to % transmittance 
 

 – II / Section – II  

(Organic and Analytical) 
51.       ? 
 (A)    (B)   

 (C)   (D)   

 Which of the following is dibasic acid ? 
 (A) Cinnamic acid  (B) Citric acid 
 (C) Succinic acid (D) Acetic acid 
 

52. ________     . 
 (A)  (B)  (C)  (D)  
 Phenolphthalein turns pink into ________ medium. 
 (A) Neutral (B) Acidic (C) Alkaline (D) Water 
 

53. _______             . 
 (A)  (B)  (C)  (D)  

 The best method for the separation of Naphthalene and Benzoic acid from their mixture 
is ________.  

 (A) Chromatography (B) Crystallisation 
 (C) Distillation (D) Sublimation 
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54.   =   ________ 
 (A)  (B)  (C)  (D) / 

 Molecular weight of acid = Equivalent weight  ________. 
 (A) Normality (B) Basicity (C) Molarity (D) gm/lit 
 

55.   ________     . 
 (i)   (ii)    

 (A)  (i) (B)  (ii) (C) (i) & (ii)  (D)   

 Chromatography is based on general principle of _________. 
 (i) Adsorption (ii) Partition between phases 
 (A) only (i) (B) only (ii) (C) Both (i) & (ii) (D) Phase addition 
 

56.   ________    . 
 (A)   (B)  (C)  (D)   

 Iodoform is confirmative test of _________ group. 
 (A) Methyl ketone (B) Ester (C) Aldehyde (D) Iodide ion 
 

57. -    5-    4- ,  
%    . 

 Theoretical yield in the preparation of p-nitroacetanilide is 5 gm and practical yield is             
4 gm. Calculate the % practical yield. 

 (A) 80% (B) 75% (C) 70% (D) 82% 
 

58.   11 ml 1 N HCl , ________    . 
 (A)  (B)  (C)  (D)  

 On addition of the 11 ml 1 N HCl in the estimation of ketone, ________ gas is liberated. 
 (A) Chlorine (B) Hydrogen (C) Iodine (D) Bromine 
 

59. 0.1 N Na2S2O3  0.1 N I2   ________  . 
 (A)   (B)   (C)  (D)  
 Titration between 0.1 N Na2S2O3 & 0.1 N I2 is example of _________ 
 (A) Acid base titration (B) Complexometric (C) Iodometry (D) Iodimetry 
 

60.  2      , -      
 . (  = 210 gram/mole,    = 228 gm/mole) 

 Calculate the theoretical yield for the preparation of benzyl-benzilic acid, if 2 gm 
benzyl is reacted. (MW of Benzil = 210 gram/mole, MW of Benzylic acid = 228 

gm/mole) 
 (A) 2.17 gm (B) 1.085 gm (C) 21.7 gm (D) 0.85 gm 
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61. 25   0.1     ‘X’ N    
   24.5 ml   ,      ________ 
. 

 25 ml standard 0.1 N Succinic acid is titrated against XN NaOH solution to give end 
point at 24.5 ml, then the normality of NaOH is _________. 

 (A) 0.0098 N (B) 0.99 N (C) 0.96 N (D) 0.098 N 
 

62. RCOOC2H5 + NaOH  ________ +  

 (A)    (B)   (C)   (D)   

 RCOOC2H5 + NaOH  ________ + Ethanol 
 (A) Sodium salt of acid (B) Carboxylic acid 

 (C) Acetic acid (D) Ethyl acetate 
 

63. -  ________    . 

 (A)   (B)  (C)  (D)  

 Preparation of the p-nitroacetanilide is _________ reaction. 
 (A) Hydrolysis (B) Oxidation (C) Reduction (D) Nitration 
 

64. 100   0.1 N       ______     . 
 To prepare 100 ml Standard 0.1 N Succinic acid solution ______ gm Succinic acid is required. 
 (A) 0.059 gm (B) 0.0059 gm (C) 0.59 gm (D) 1.18 gm 
 

65.    ________   . 

 (A)  (B)  

 (C)  (D)    
 Nitration of the acetanilide mainly occurred at _________ position. 
 (A) Para (B) Ortho 

 (C) Meta (D) At Anilide group 
 

66.  Zn       _________   . 

 (A)   (B)  

 (C) -  (D)  

 Aniline when heated with Zn in acetic acid gives _________. 
 (A) Nitro benzene (B) Acetamide 

 (C) Para-Nitro Acetanilide (D) Acetanilide 
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67.               
 (A)   (B) - 

 (C)   (D)    
 Choose the name of preparation which involves nucleophilic substitution reaction. 
 (A) Benzilic acid (B) p-nitroacetanilide 

 (C) Dibenzal acetone (D) None of these 
 

68.    ()         . 
 (I)   (II) - 
 (III)  (IV)   
 Choose the name/s of preparation from the following which does not involve rearrangement : 
 (I) Benzilic acid (II) p-nitroacetanilide 
 (III) Acetanilide (IV) Dibenzal acetone 
 (A) I, II, III (B) I, III, IV (C) II, III, IV (D) I, II, III, IV 
 

69. TLC     6 ..       5 ..   Rf 
 = _________ 

 In TLC experiment solvent run is 6 cm and distance moved by analyte is 5 cm, then the 
Rf value = _________ 

 (A) 0.083 (B) 0.833 (C) 1.2 (D) 0.833 cm 

70. ________        . 
 (A)   (B)   (C)   (D)  

 Use of ________ is banned due to its use in narcotic business. 
 (A) Acetic anhydride (B) Acetic acid (C) Acetyl chloride (D) Acetonitrile 
 

71. ________     . 
 (A)   (B)  (C)  (D) 2  

 ________ having diketone group. 

 (A) Benzilic acid (B) Iodoform (C) Benzyl (D) 2 Butanone 
 

72.   _______    . 
 (A)   &  (B)  &   

 (C)  &  (D) -- &   

 Dibenzal propane is prepared from _______.  
 (A) Benzyl alcohol & acetone (B) Benzaldehyde & dimenthyl ketone 

 (C) Benzil & acetone (D) Benzal-di-chloride & dimethyl ketone 
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73.    _______ . 
 (A)   (B)   

 (C)      (D)   

 Estimation of ketone is _________ 
 (A) Iodometry titration  (B) Iodimetry titration 

 (C) Both Iodometry and Iodimetry titrations (D) Complexometry titration 
 

74. TLC     6 ..  Rf   0.75 ,      . 
 In thin layer chromatography distance travel by the solvent is 6 cm and the Rf value is 

0.75, find the distance moved by solute. 
 (A) 4.5 cm (B) 0.45 cm (C) 4.5 m (D) 5 cm 
 

75. 2.75 gm  2.4 gm -   ,    
3.6 gm      . 

 2.4 gm of p-nitroacetanilide was obtained from 2.75 gm of Acetanilide, calculate % 
practical yield if the theoretical yield is 3.6 gm. 

 (A) 50% (B) 55% (C) 60% (D) 66% 
 

76.          ? 
 How many moles of Aldehyde is used for the preparation of dibenzal acetone ? 

 (A) 1 : 2 mole/ (B) 3 : 1 mole/ (C) 1 : 1 mole/ (D) 2 : 1 mole/ 
 

77.        _______ . 
 (A)     (B)    

 (C)    (D)    

 End point in estimation of Acetone with starch solution is detected by _________ 
 (A) Appearance of blue colour (B) Colour change from blue to colourless 

 (C) Appearance of yellow colour (D) Appearance of pink colour 
 

78. ________         . 
 (A)  (B)  (C)  (D)  

 ________ hydroxide is less hygroscopic than other alkali metal hydroxide. 

 (A) Aluminium (B) Lithium (C) Potassium (D) Sodium 
 

79. ‘’  ________      . 
 (A)  (B)  (C)  (D)  
 Adduct is product obtained during _________ reaction. 
 (A) Substitution (B) Elimination (C) Addition (D) Rearrangement 
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80.      ________   . 
 (A)  (B)  

 (C)   (D) / 

 Reaction between furan and maleic acid is example of _________ reaction. 
 (A) Oxidation (B) Reduction 
 (C) Diels alder (D) Condensation 
 

81. TLC        ? 
 (A) KMnO4, ,  FeCl3  

 (B) KMnO4 ,  FeCl3,  

 (C) ,  FeCl3,    

 (D) , KMnO4, ,  FeCl3,  

 Which stain for visualization is used in Thin Layer Chromatography ? 
 (A) KMnO4, Iodine, Neutral FeCl3  

 (B) KMnO4, Iodine, Neutral FeCl3, Ninhydrin 

 (C) Iodine, Neutral FeCl3, Ninhydrin  

 (D) Bromine, KMnO4, Iodine, Neutral FeCl3, Ninhydrin 
 

82. TLC          ? 
 (A)  (B)  (C)  (D)    

 Which coating material is used on TLC plate ? 
 (A) Cellulose (B) Polyamide (C) Polynitrile (D) Silica gel G 
 

83.    1000 ml 1 N NaOH = ________  . 
 In estimation of ethyl acetate 1000 ml 1 N NaOH = ________ gm ester.  
 (A) 88 g (B) 8.8 g (C) 0.88 g (D) 0.088 g 
 

84.   ________     . 
 (A)  (B) Na/Hg   

 (C)   (D)    

 Estimation of Ester is based on the principle of _________. 
 (A) Polymerisation (B) Reduction with Na/Hg  
 (C) Acidic Oxidation (D) Alkaline Hydrolysis 
 

85.          ? 
 How many pi-bonds are associated with Dibenzal acetone ? 
 (A) 3 (B) 6 (C) 7 (D) 4 
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86.           ? 
 (A)   (B)   (C)  (D)  

 Which solvent is used for the preparation of Dibenzal acetone ? 
 (A) Acetic acid (B) Ethyl alcohol (C) Methanal (D) Benzaldehyde 
 

87. NaOH            ? 
 (A) FeSO4    (B)     

 (C) KMnO4    (D)    

 Standard solution of which substance to be prepared to determine normality of NaOH ? 
 (A) Standard solution of FeSO4  (B) Standard solution of succinic acid 

  (C) Standard solution of KMnO4  (D) Standard solution of iodine 
 

88. NaOH  HCl        ? 
 (A)   (B) ... 
 (C)  (D)  

 Which indicator is used in volumetric titration of NaOH vs. HCl ? 
 (A) Starch solution (B) E.B.T. (C) Phenolphthalein (D) Diphenylamine 
 

89.   ________  . 
 (A)      (B)     
 (C)     (D)    

 Chromatography is used for _________ 
 (A) Number of component present (B) Isolation of compound 
 (C) Purification of compound (D) All of these 
 

90.   HNO3  H2SO4   _______   . 
 (A)    (B)     
 (C)     (D)   
 Reaction of acetanilide with conc. HNO3 & H2SO4 is the example of _________. 
 (A) Nucleophilic aromatic substitution (B) Electrophilic addition reaction 
 (C) Electrophilic aromatic substitution (D) Rearrangement reaction 
 

91. TLC    ________     . 
 (A)  (B)  (C)  (D)  

 Solvent rises up on the TLC plate due to _________. 
 (A) Adsorption (B) Absorption (C) Capillary action (D) Surface tension 
 

92. TLC   _______    . 
 (A)  (B)  (C)  (D)  
 In TLC, components of mixture are separated depending on their _________. 
 (A) Molecular weight (B) Density (C) Ionization (D) Polarity 
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93. ________  TLC      . 
 (A)  (B)  (C)  (D)  
 ________ component move faster on TCL plate. 
 (A) Polar (B) Non-polar (C) Solid (D) Liquid 
 

94. Rf = ________   
 (A) / (B) / (C) / (D) / 

 Rf = distance travelled by ________.  
 (A) Component / Solvent  (B) Solvent / Component 
 (C) Component / Solute (D) Solute / Component 
 

95.  ________    . 
 (A)  (B)  (C)  (D)  

 Acetaminophen is also known as _________. 
 (A) Aspirin (B) Paracetamol (C) Ibuprofen (D) Ecosprin 
 

96.  ________    . 
 (A)  (B)  (C)  (D)  

 Aspirin is acetyl derivative of _________ acid. 
 (A) Benzoic (B) Oxalic (C) Salicylic (D) Cinnamic 
 

97.      ________ . 
 (A)   (B)   (C)   (D)    
 Molecular weight of Citric acid is _________ than its equivalent weight. 
 (A) Same (B) Double (C) Half (D) 3 times more 
 

98.     ________ . 
 (A)   (B)   (C)  (D)  

 Solvent in development chamber is called _________. 
 (A) Mobile phase (B) Liquid phase (C) Eluent (D) Developer 
 

99.      _______   . 
 (A)  (B)    
 (C)   (D)  

 To determine M.W. of unknown acid, _________ indicator is used. 
 (A) Starch (B) Eriochrome black tea 
 (C) Methyl organge (D) Phenolphthalein 
 

100.    126 / .  1 N 1      
   ? 

 M.W. of oxalic acid is 126 gm/mole. How much oxalic acid is required to prepare 1 N    
1 lit aqueous solution of it ? 

 (A) 63 (B) 126 (C) 12.6 (D) 6.3 


